APRJC 2012(MPC) Question Paper

PART -1
Q. Booklet B
GENERAL ENGLISH Code

1. Hedidhis h_ﬂmewnrkl':-jr
Choose the correct pronoun to fill in the blank.

(1) him - (2) herself
(3) hisself ﬁ-ﬂ himself

2. Find the odd word out from the list of four words given below :
doctor, lawyer, engineer, cooker
(1) engineer /12)  cooker
(3) doctor i4) lawyer

3. Jivan said, "I have read this book."
The reported form of the given sentence is ... W
(1) Jivan said that he has read that book. C,O
(2) Jivan said that he had read this boo 6\ |

/(3 Jivan said that he had readtb%? .
k.

(4) Jivan said that [ had

4  Ashokis W_
The comparitive form of the given sentenceis .......

(1) Ashok is boldest than any other boy.

v( 2) Ashok is bolder than any other boy.
(3) Ashok is more bold than any other bay.
(4) Ashok is more bolder than any other boy.

5. Heis very poor. He cannot buy a car.
The given sentences can be combined as..............
(1) Though he is poor he bought a car.
(2) As he is poor he bought a car.
(3) He is so poor but he bought a car. :
v(ﬁ-]' He is s0 poor that he cannot buy a car.
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8. Heplaysthe violin ......... concerts.
Ghm:-se the mrractprepnmhnn to fill in the blank.
I:1] to A 3 (2) with
Jﬂ.‘l at (4) in

7. Can you show me the way to the bus stand?
The given expression refers to the function of ............
(1) Making a suggestion (2)  Question
(3) Offeting help : V@H Seeking information

*

8. Sachin has created a new world record in cricket.

Passive form of the given sentenceis........ _ O((\
%1} A new world record has been created by Sachin in cricket.
(2) A new world record had been achin in ericket.

(3) Sachin has been cm@ﬁh&uﬂd record in cricket.
(4) Sachin Wr& a new world record in cricket.

9. Raghu.....)\.(come)tooffice tomorrow. : '
Choose the correct form of the verb given in the bracket to fill in the blank.

V{l} will come (2) will be coming
(3) come - (4) comes

10. The Kingis malicious. 'Malicious' means ...........

(1) kind #(E} desiring to l:ln harm
(3) joyful (4) lovable
11. Which word is pronounced in the same way as 'battle”?
J (1) rattle (2) bundle
(3) mantle (4) bottle
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(12-18) Read the following passage. Focus on the given five blanks. They
represent five questions based on the passage. Questions appear after
the passage. '

We took .......... (12) early morning flight to Delhi. .............. (13) Delhi, we stayed
in a hotel. We ........... (14) the day on sightseeing. The next day, ............. (15)
went to Agra. Later, we returned ............ (16) Delhi.

12. (1) the (2) no article isnecessary
(3) a . q’fd} an

13. (1) In L, : '/{2} By
(3} On (4) (‘(\

14. (1) had spent &,\ has
(3) spent spe:u!

\06«
15. (1) they (\6’ I
(3) we (’(9‘ {4]_ us

IMII MW (2) over -

(3) in ~ (4) into

17. Peteris........... European.

Insert a suitable article.
(1) the (2) no article is necessary
(3) an ) S a

18, Swathi said to Prasad, "I want to become a suﬁ;ware engineer."
The reported form of the given sentence is .. a
(1) Swathi told Prasad that he wants to l:recnme a snft.ware engineer.
(2) Swathi said that she wanted to become a software engineer.
) Swathi said to Prasad that she wanted to become a software engineer.
(4) Swathi told Prasad that she wanted to become a software engineer.
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Gopi .......... (live) in Hyderabad since 1975.
hoose the correct form of the verb given in the bracket to fill in the blank.

1) has been living _ " (2) isliving
(3) lives (4) lived
20. Gopal swam............ theriver,
Choose the correct preposition to fill in the blank.
(1) over f:} ACross
(3) in (4) on

21. How do you do?
The given expression refers to the function of ............
(1) asking for information 2) an enquiry
(3) asking a question %4} a greeting (.(\
O

28, Thesilentlotterin theward, knifele .. . . U
v x (2) Q\ .
3) f

Qo

23. Look, how beauatiful she

Choose the ¢ @ verh given in the bracket to fill in the blank.
1) was (2) dances
3) is dan (4) danced

24. She is poor. She 1s honest.
The given sentences can be combined as,,.........

(1} Because she is poor, sheish ) She is poor but she is honest.
(3) Assheis poor she is honest, (4) She is poor so she is honest.
25. The silent letter in the word, ‘'rumour'is .......cco.evv
1) last'r' (2) first'u'
(3) m (4) first'r’
26. Mount Everestis......... highest muunta.m peak in the world.
Insert a suitable artm]& .
1) an (2) no article is necessary
(3) the (4) a
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(27-81) Read the following passage. Answer the five questions given belou

27.

29.

- 30,

Have you ever heard about an animal called the lemming? You'd never se
a lemming in India because it lives only in very cold parts of the world. Yo
would find lemmings in places like northern Europe, for example, in countrie
like Norway and Denmark.

The lemming is not a very handsome animal to look at. It is small ani
looks rather like a rat. But the lemming of Norway has one strange habi
which makes it very different from a rat, or from any other animal.

Onece in every few years, the lemmings of Norway leave their homes in th
mountains and start travelling. They cross fields and woods and they swin
across streams and rivers, until, after a few months of travelling they reach th
sea. The sea doesn't make them stop. They jump in and swimming, an
they keep on and on, until, at last, they are s tir@ they have to sto|
swimming. And then, of course they drnwnd\ .

Where do lemmings live? (\6'\06

(1) In India (2) In Pakistan

(3). In verwm ‘/{4} In very cold countries
How do le gs look like?

(1) Like a monkey jﬂ} Like a fish

(3) Like acat (4) Like arat

Which lemmings have a strange habit?

(1) Lemmings of Denmark (2) Lemmings of ﬁf.ﬁ'iua
q(ﬁ} Lemmings of Norway . (4) Lemmings of India

What is the size of a lemming? . :

1) Small (2) Very tall

(3) Very big (4) Very small .

El.j'ﬂmra do we find the homes of lemmings?
(1)

E-1

On the plains : (2) In the mountains
(3) Inrivers (4) In-seas
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82, I......(meet) an old friend yesterday.
Choose the correct form of the verb given in the bracket to fill in the blank.

(1) wasmet {(2) hasmet
v‘f:-ﬂ met _ (4. had met
33. Kapil used to bowl very fast. The word 'fast'isused as a/an ..............
- (1) noun (2) pronoun
(3) adjective q/{-l_} adverb

34. My grandmother reads ........ Ramayana everyday.

Insert a suitable article. '
ﬁl} the (2) nnarﬁda'@’@am \
3 a @ an
N\
35. Ramesh............. (like) Physics. O

Choose the correct form of th a‘g:iwh in the bracket to fill in the blank.
(1) hasliked V(@) likes

(3) &EW‘ . (4) ‘isliking

368. Rahul cooks well, ...........7
Choose the appropriate question tag to be inserted in tﬁe given blank.
%1} doesn't he? (2) dohe?
(3) didn't he? (4) doeshe?
37. The silent letter in the word, ‘comb'is.........
(1) ¢ ; (2) o
Vo 4 m
38. ldentify the correctly spelt word.
(1) Auditorium (2) Aaditarium
(3) Auditarium (4) 'Audetorium

E-1 : [7] (P.T.0.)
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39. Bahuguna had wﬂlln;.ed throughout rural India.
The opposite of 'rural'is ............. _ ;
(1r town (2) willage
(3) city o /(4) " urban
. 40, Identify the correctly spelt word. .
(1) aniversary (2 balance
(3) conferance (4} independant
~ 41. Sheis a spinster school teacher. 'Spinster' means ..........
(1) an unmarried man (2) amarried man
0{31 an unmarried woman (4) amarriedw
42, All seats are full. ad\ .

The opposite of 'full'is .............

."El} vacant ' (@(\6’{2‘.! half

(3) empty M‘ (4) complete
48. One should love.......... country.

Choose the correct pronoun to fill in the blank.
g(l} one's . (2) our
(3) his (4) her

44, Find the odd word out from the list of four words given below :
chamber, corridor, assembly, balcony

ﬁll assembly {2) balcony :
(3) chamber _ (4) corridor
45, Padma played the guitar, ............. 7 _
Choose the appropriate question tag to be inserted in the given blank.
(1) doesshe? (2) did she? ’
(3) don't she? oo didn't she?
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L Shall we go to a film tomiorrow?
The given expression refers to the finction of ................
(1) help : (2) question
(3) invitation %4] suggestion

L Ravi ate many cakes.
Passive form of the given sentence is ...............
/(1) Many cakes were eaten by Ravi.
(2) Rawvi gaten many cakes,
(3) Many cakes are eaten by Ravi.
(4) Many cakes were ate by Ravi. GOW ;

. The King st0od ............. the stag. - 6\ )
Aol

V1) beside ((Q’ )
(3) at W 4 on
' India........ (get) independence in 1947, -
Choose the correct form of the verb given in the bracket to fill in the blank.

(1) isgetting (2) had got
(3) gets vﬂl]‘ .Eot
'-_Theaun wreeenenes (F18€) I0 the east. :
! Choose the correct form of the verb given in the bracket to fill in the blank.
(1) rose _ (2) isrising
| ; V( ;
(3) rise 4) rises

i _ (9] (P.T.0.)
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1 8\ 2)_ p
fla 1]l | , then the valueofpis ........

1 a2 2 |
[ﬂ 1][ 1 ] [ _1 ]mpm""hnﬂﬂuuun

=1

(1 0 (2) -2

V3 -1 1

52,

A wheel makes a 360° revolutions in one minute. Through how many radian
does it turn in one second?
e (o e Dlaited* 3607 Boia HRoKbBIy S piE" Bd Jtts Saande.

1) 36x ; ; (2) 10x
v 12¢ (4) 0(0

53,

v

Sum of the first 100 natural numbers is .. 6\
Sl 100 5350 Segpn Boele ... .,

A1) 5050 (@(\ {2} 50505

54.

(3) 50 . (4) 506

The sides of'ii certain triangle are given below. Which of them forms a ngh
angled m:;ngle'-" ;
Wmm@mmmvﬂﬁ'ms‘wma%m :
(1) 9cm, 15¢m, 17 cm (2) Tem,24cm, 26 cm

(3) 6em,Bem, 11 em, (4) 5cm,8cm,11em

The slope of the line which is perpendicular to the line 5x -2y +4 =0 is........
Bx = 2y +4 =0 sl coneM Pl 80 PP et

(2)

v

(1)

ol Bl
alb b

(3)

[10] o
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none of th&gm

inside

\ The limit of the sum 1+§+3—g+3—3+u---~--;+” T8 e snrntons
1+1+£5+T+ ......... + 00 oot e
v 3 @
(3) % (4)
(1, 3) lies-................. the region 2x +y 2 3.
(1) on (2)
V{S} outside ) (4)
(1, 3) Dotisy 2x +y 23 3P0 EEATOY errereraenes
(1), i3 Deiely' (2)

Véﬂ BcE potixnio

e

If the product of two consecuti xﬁh&‘a is 56, then the numbers 0

e

4, 14
7.8

y-axid

Mam:ﬁwsumgu - ORI e

(1) -7,8 (2)

3) 7,-8 4

Which of the fﬂll;:rwing graphs mrrespmﬁ to the functions?
B0 Br0igro6* D0 shuasmeins sr00?
» s

(1) - - Qi V/[E]

o
@) /+\ | | (4)

| [11)

h_|
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80. Two............ are always similar.

(1) triangles (2) trapeziums
V{El squares (4) rectangles

[ -C— o0 Jepdls B

(1) Goe (2) " ssseon sastiymes
v(3) s _ @) Syssss@re

8L, If m times the m'™® term of an A.P. is equal to n times the n'® term, then the
(m+n)" term of the A.P. is....
uaaEh,':ﬁ‘m ::u:mg;mmnnmﬂmm ugv:.es‘n:mq-n::.:ﬁu

(1) n (2) m+n OW
J3 o (4), 7 G
62. IfSecﬂ+TanE=p,thenthevnlu%ga,mm....
: Sec@ +Tanb = p 00 Sinb Do e :

2 ] 7
p* -1 +p p'+1 1-p*
v p;,rW\Ntm =it @ T @ 15
63. Which of the following is not a'factor of 2x* +x? —14x® —19x -67
2x% 4 1% —14x% —19x - 6 % Tlercio RO

Jll-' x+3 _ 2 x-3
(3) x+2 P
2 .
" H‘E d“_dg =4 ,then the value of d is .............
2 —4
‘E d-9 =4 ocdd D655 ..o
(1) 5 @
@ 6 4) -6 -



65. Foragiven data, the mean is 39 and the median is 38. Then the mode is

VB B

L lELELE LRI

&8 Sorotiiannio A M. 39, Sofidibe 38 eas oo eSS

-1 38 (2 37

(3) 34 (4) 35

m+n

66. If Sech = T .ﬂ-'l'E'I'I the ‘FﬂlllE ﬂfoﬂﬂ' 8 Ena e
mn

m+n

Sect = oD Sinf DO weeereeersane
= i
{,11 m-=n d - - EE} Trirt
mn mMm—nR
m-=n m+=n
(3 — (4) GO('O

R
6‘, rx»2
67. Let f:R — R be a function dﬂﬁnedbyga -1, -2=sxx52,

1+5|:, x <=2

then the value of f(-3 ) 51 D

£ esito goatioe £ 2ol Dorom Jtkol mdna

x~-3, x>2 :
flx)=1x"-1, 2<sx<2 oD f(-3)+/(3) da5 cvvereae
l1+x, x<-2

(1) 16 Vi@ -2
@0 4) -6
- 68, The first term of a G.P. is 50 and the fourth term is 1350. Then its 59 term is ..
©¥ e BeE" Buatssd 15850 50, 4 3 350 1350 woud B 5 S 350 ...
(1) 4050 (2) 40505
(3) 40 (4) 405
E-1 [13] | (P.T.0.)
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69. In what ratio is the segment joining the points (4, 6) and (=7, =1) divided
by the X-axis?

(4, 6), (=T, 1) Dotizpoi 505 Sprpemdy X-eso Deted 2ig@?

(1) —6:1 : ' (2) B6:1
V() 1:6 &) -1:8"
70. »!’pvq]-...,...
(1) (=p)agq f 2 pv-g
V(3 (~p)a(~q) @ (~p)v(~q)

0(0

'71. The limiting position of a secant of a circle 136\

(1) chord @,\QJ polar
o
v{ﬂ] tangent (4) normal .
w55 P5s Ty
1) =y (2 gte
V) Hele (4) edooelp

]
72. The independent (constant) term in the expansion {3:.: - ?/xg } B il
9
[ﬂx—%,] Dstiend® x B Siso (tasiso) |
(1) -C,3%" . (2)  €,3%
@ €85 Y s

E-1 [14]
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v
P q
/

r

Determine when a current does not flow from A to B in the circuit given above.

qﬂ: 1) when p closed, ¢ open, r open

(2) in all these circumstances
(3) when p closed, g closed, r open
(4) when p closed, g closed, r closed

B9 50,1568 A 508 B 3 D Sotsones® Dings Eulnonss GO(O

‘/'[11 P SaspEs, g DU, r DEINHE d\ )

(2) P o Sopompd® \O'a,
(3) pariasiptis, g rhsipis, r '
(4) pBerbaiss, g Sart acls s
74. If ®+2:% + as factors x+1 and x—l,thnnthlanrﬂluesufuandb
- | o - [

2 +2x% rax+b 8 x +1 5o0cin x -1 e PirroTes sad o, b o Desded ...

() 1,2 @ 1,-2
@ 1,2 My 1,2
75. ﬁ.ngla in a major segment of a ci:ﬂe . s
(1) aright angle (2) none of these
V'éj an obtuse angle (4) an acute angle
(1) vewtmo (2) S
A3) oy 2 (4) weiino
E-1 [15) (P.T.0.)
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2 .
76. If (x y}[u ?]m{ﬁ 10), then the values of x and y are ..........

(x }r][ﬁ $]={E 1u}mm;a5;:,y_um..+...,......

J:” x=3 y=1 (2) x=-1, y=-3
(3 x=1,y=3 . (4) x=0,y=0
77. If the three points A(p, 2), B(-3, 4) and C(7, —1) are collinear, then the

valueof pis....
A(p, 2), B{-E 4} C(7, l}mmmmaénpm
V(I} . 2 2 . :
@) 0 @ -1 GO@

78. The AM, GM and HM of two numbers are A, %remeuﬁvelm Then .......

Botis &5 dogye AM, GM, mmm%ym sl

(1) HzGz A A2G2H

(3) A:-G:-W A<G<H

79. If|6-9x|=0,thenthevalueofxis......... ' ?'” % *az/ : ,
e . .
|8-9x | =0 ecndr Dew s e ::r ,$
. ',n-l" . ]
g -3
(1) 2 (2) 5

80. The quadratic equation whose roots are 243 and 2-/3 is..........
2+43, 2—f3 Lo SPoeT 1o 5 SREEE0 coevecnsesenns

VD) 2% —dxs1=0 @) x?—dx+1=0
(3) x*+4x+1=0 (4) x*+4x-1=0

E-1 | ' [18]
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8l. Ifn(AUB)=51,n(A)=20,n(B)=44,thenthevalueof n(ANB)is......

n(AUB)=51,n(A)=20,n(B)= Hmn[ﬂﬂﬂ}m Sp—
(1) 75 V@ 13
(3) 115 (4) 27
B82. Let f:R— R, g:R— R be defined by ,f:{x}=1+ﬁ and _gﬂ[x]=_3-2::.111en
the value of Z6f(8) I8 ...oovrsssuen -
f:R=R, g:R-R o f(x)=1+2x S:0ckn g(x)=3-2x m 2523 gof (3)
L | |
(1) 0 (2) 11
- 3 =11 4 -5
83. Thelen.:thnﬁhatanzantdrawnmaﬁrc]em:hmdma'r' apalntP.wi:jch
is 'd' cm away from the center is .. 6\
Wﬂuw%m&@.ﬁmePMMm
e DY ...
(D) JP-a&* j @ Jr+d
v J@- 7 @ JFr
lﬂ-i. The harmonic mean betweena and b is ..........
am&u%ww:“mmw...
Yo % @ :fb
@ Ebi' 4) “ﬂf
85. C.P.U.stands for......coernne
CPU.sxr................
(1) Control Processing Unit (2) Calculation Processing Unit
(3) Computer Processing Unit d{-ﬂ Central Processing Unit
E-1 [17]
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Tan (180+8)=............
(1) ~Tan® (@) —Cotd
(3) Cot@ ' . q{d] Tan@
Ifp: Emevun,qr Elspnme. then prg :
(1) 2iseven but not prime (2) 2is p::ime but not even
(3) 2iseven or is prime - qﬁ} 2 is even and is prime

p: 2e555500;, g :Ew:a;saq:ﬁu::gm o2 B . -

(1) 2 el 500w SO0 B Hopg ¥ (2) 2 e S0 Sopy Moddian HOBoRy T
(3) 2ebibtes; Tor 2 B dey; v{d} 2 1.8 S0, Mool (e Sopy
EHY, XYy XY o .in A.P, The common M&m@@.

T+Y, =Y, X=3Y e mﬂé&‘w

Mmoo @\0@

89.

9.

3) 2 N\ -2y
If the bisector Waﬂ le of a tnangla bisects the opposite side, then the

(1) scalene (2) right-angled ~
(3) equilateral ; vé} isosceles '
W?nmmamMﬁmaéwigu@ﬁm.mm.mm
(1) Japomino (2) oousles
(3) RSsire gf:;; mﬂﬁ“
If 3*+* = g**1, then the value of xis .............
=9 wodx Dedd ...
V'/l'.i -1 2) =2
(3) 0 : 4 1
[18]




91.

92.

E.-

Bookl
& oo D

Arelation Ris ........., if (%, ¥)& R'and (¥, z)€ R, then (x,z)e R.

1) transitive (2) all of these
(3) reflexive (4) symmetric
(x,¥)e R sobass (¥, 2)e R eciipto t:,z]ER -V TN S
D) sopsere (2) D Eao
(3) Sogse . (4) Do
Which one of the following is a scalar matrix?
BN SrBEed® edw (scalar) Sm@s.
wfi o (3. @ o @ 5 &
: 0 2 0
A histogram consists of ............. . OW
(1) triangles ' (2) BT:E' C’
(3) sectors Q@@; gles
IVEIEEE ..o DO (\
(1) |Bomen (@ {2} =L I
(3) wytses V@ &itw:@-m
Find k in order that x® - 3¢® + 4x + k may be exactly divisible by (x-2).
x¥ - 8x% 44z + ko (x-2) Fser PAd kDo .l ; jm} > g eidtE
) 4 V2 E,v--ﬂ*ﬂ Ty
3 0 4 1 ¢ 12 g l1ez0
. , : i
Iff=a’r§+ﬁ.th§nthevaluaufaﬁ—ﬂy e _"‘i&-- 4 z-78.
¥ =’W§+§§ 00558 32 — 9y 6D corvsranen
(1) 9 (2) =10
V3 10 (4) ©
1 [19] (P.T.0.)
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Code
96. The line y =mx +¢ meets the ¥-axs at the POINL .oveirnrarsens
y=mx+c ety Youmih poded Dol ..oovvnenn
@ (0, -c) @ (~¢,0)
V@ (0,¢) - 4 (e 0)
97. Which of the following is not a function? -
2ol & Eﬁﬁxﬁm‘r&ﬁ.
M f={(-11), (-2.4), (0, 0), (1, 1), (2 4)} -
@ fi={11), (22,63 &4}
@ £={12), (2 3), (3 4), (4, 5)}
v{-ﬂ fo={(1 2), (2 4), (2 5), (3, 9)} 00@
98, The radius of a circle is 14 em. The mglﬁu){)tended by an arc of the circle
at the center is 45° Then the lan%. areis .............

w3 o T 14 o, th{mqﬁ“ﬁ‘mﬁ&umﬂ-mm....m
v 1 N 2) 13cms
(3) 10 (4) 12cms
99, Thevaluenﬂit—ﬁjé'? : '
2% -3/ <7 ﬂuui,:au;;?
(1) 2sx<-5 J2 -25x<5
(3) 2=sx<5 (4 -2=x=-56
100. The mean of 10 observations is 16.3: By an error, one ob servation is
registered as 32 instead of 23, Fiﬁr.l the correct mean.
10 sesase Snes 16.9 ¥ weto Do 28 3 picey 32 6l Biym Eraboded. HOS
e Dots?

ﬁn 15.4 (2) 15.3
(3) 16.4 © (4 155

E-1 . o)
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101. Correct order for electron affinity ufhalugzns 1 . —
$Stebe Jogh eddd tewelod E0 e .
j]} Cl<F<Brel EEII F-:C.’.'-cﬂr-:f
3 Cl=F=>Br>1I . (4) F>Cl>Br>1
102. 10% sodium chloride solution means ..................
(1) 10 gram NaCl, 10 ml water ) 10 gram NaCl, 50 m] water
(3) 10 gram NaCl, 90 ml water f4) 10 gram NaCl, 100 m]l water
10% 2Féctive 5DE HOERSENNIS ST .ceorreeceens '

(1) 10 grssse Mddie 5o, 10 Ba.b. S
(2) 10 prioon Fdctivo 50e0, 50 do.b.,
(3) 10 grace Fdcio o, 90 do.b. M

4(4} 10 griswe Hdaio 5o, 100 bo.b. b (’O
103. Which of the following do not have a x bond?

L!:aha'dﬁ'z todhia BRa?
) co, ang\
(3) O, :

104. Identify the substance W]li{er
ua:i:-ﬁu:&n'\;:m . E
(1) CaCl, V@ Beci,
(3) BaCl, 1 ' 'H} MgCl,

105. The correct equation of motion in case uf a body projected upwardsis ..
(initial velocity u, final velocity v, acceleration g, time ¢, maximum hmght k).

E&ﬁﬁuu,mm v, Gglirssion g, Toiias ¢, NO{OGg h)
(1) h=Yog? (2) v¥=2gh
(3) v=gt : (4) w=gt

108. In progressive waves with equal amplitudes, the distance between first and
fourth crest is 60 cm. The wavelength of the wave s ..........

RIS Yol 30Istoes Mo w¥ HEMIL Busled® Buiil, Teoitd Home Dol SIS
B0 R0, ool e Blico dlas, BUoR BRI s
(1) 30 cm (2) 60cm 3) 15em. o) 20em

E-1 ‘ [21] (P.T.0.)
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107. In a uniform circular motion, the following remains constant.
(a) radius (b) angular velocity (c) time period
(1) only (a),(c) are constant ~/('2‘! {a), (b) and (c) are constant
(3) only (a), (b) are constant (4) only (b), (c) are constant
S50 PO Deisitend’ Htom dotiaisd.
(a) ornggaa (b) Sedan Simsoo (€) eassgd Mesw
(1) (), (e) e Somss s W2 (@), (b), (0 o Samess s
(3) (a), (b) oo s s (4) (b), (c) @0 oo fythsas
108. The ratio of acceleration due to gravity on the surface of earth and moon is
Nearly .......cuusennrsnes .
G Botee B, Do Dol ¢ o mm%@w
(1) 1:3 (2) 3:1 '
V3 6:1 4 1:6 - 0(0
109. Revolutions per minute of a wheel is 1 If thgkhea] travels 3000 m in
5 minutes, then the distance tra? Sc-l:uan-t!ll for one revolution is ..
(1) 2m
@3 1m II.'4
B (%o Ndedpnd 1 E.iina E:ﬁﬂrmﬁ'waﬂmm Bairen
L0 @:ﬁrﬁoﬁ: Eds .
(1) 2oom II.'EJ 4h:m
(3) 1 5on S Yoo

110. False statement about p orbital is.........cocecnnnee.
(1) I value for p orbital is 1
(2) p orbitals lies on three axes depending.on orientation
(3) energy of subshells of p orbital is same in preumm of m.agnahc field
(4) p orbital is present from L shell

P espE o Horofod Tefad PRB ..o
(1) pesturdldassl
(2). p estyprdos HliFrgio p upPEHd St eped’ dcwron

V(8) ot es Ao e p Gk, S350 50 ¥ SR
(4) L syt dood p wlhurdos doiron
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111. During the electrolytic reduction of MgCl,, coal gas is passed over floating
magnesium. The reason for thisis ..
1) toincrease reduction and mudahﬂn
(2) to prevent oxidation
(3) toremove impurities
(4) to prevent reduction

Mﬁlﬂwm#mmgmﬁamww
(1) Foiubrse, edamw;w;
4(2] el e I8ty
(3) SobmrasSolctiond
(4) Howstrse JBoBonks

-

112. Example for the triple bond moleculeis ..
(DY soio ot Bruh SO ..

(1) co, Jﬂ} C,H W\
3) 0, L@ Hgoﬂ GO

.

118, If the lids of the bottles A, B, C are ap% id in B vapourizes quickly.
The acid in A vapourizes very slow a it vapourizes slowly. Then the
acids presentin A, B, C are .......5..

A, B, Clire sarbeis - 00 Bk 20 sousol. A 6% wise o R,

C &% eisso A, B, Coé' sots esspes ............
(1) HCl, CH,COOH, H,S0, ¥(2) CH,COOH, HCI, H,S0,
(3) H,50,, CH,COOH, HCI (4) H,S0,, HCL, CH,COOH
114. One of the following substances which is not an aliphatic hydrocarbon is ...........
1) Benzene (2) Ethane
(3) Ethylene _ (4) Propane
e foos.. |
1) 2045 - (2) ©d5
(3) 30bS (4) (255 )

E-1 ' [23] @ (P.T.0.)
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115. Half-life period of a radioactive substance 1s 5730 years. Time required by
it to become 1/16 of its initial massis .
(1) 28650 years / (2) Eﬂﬁ'ﬂﬂ years
(3) 11460 years (4) 17190 years
ey BaaP :p-a;!nu-gugé:am 5730 st ores oo 80 Wmﬁammm
(1) 28650 o1 (2 2292050
(3) 11460 Seun U0 (4) 17190 3¢
116. The atom to be doped into Germanium atoms to form a P-type semiconductor
R i x
- (1) Sj]mun ; ) ‘Phosphorous
(3) Antimony 4) Indium
P-to elmrirte Dt Bldie SoErtupoh wrliine SESrreges
(1) 205 .f} s
(3) esoddBand %@&mn
117. If the length and area of a u‘o?@n of a copper wire are doubled, then its
specificresistance ....
(1) decreases to l.-*4 V‘[EI remains constant
(3) in {4) inereases four times
one mmwmmmummbnﬁ
(1) /435 Sebs biige qé] 2OET Soewsd
(8) Tokls Tuas Do (4) TPeohh Do BLLRE:
118. A wire of resistance R is cut into 5 equal parts am:l then the parts are
- connected in series, The resultant resistance is ..
R 5850 e 1.5 St b sdugrmeam Sgidod il éesé‘mmm:m wDB DEREE e
ViR @ =
b
o :
(3) R _ | 4y BR

[24]
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119, Which of the i‘nll-:'-wingis used as an application of coating of gold on brass metal?
(1) Fleming's right hand rule (2)  Ampere's law
(3) Fleming's left hand rule ‘Aqr Faraday's law of electrolysis
3BE Srhas D Loy WD Yraianag Bed A AN eongta?
(1) ook BAI0 Dol (2)  escbafel Hamaone
(3) DwefiIeme Do Juoin v(ﬁ TOTH DSOS Sl

120. The valency ba.nd of a semiconductor is completely filled with a]ectmnﬂ
at this temperature.
ma@mgwﬂhmﬂhw%mm.
(1) 273K (2) 100K
(3) 273°C . ; V) ~2730C

121. **Pp belongs to this radioactive series. (’(\

1} Uranium series - (2) ﬁct.mﬂ Urum' '
EE} Neptunium series (4} Q sanas
NP0 Barulte & a.:.mw :J-;':m:n
ﬁ 1) atsdocoe @t el nﬂ:ﬁﬂﬂﬁm e

(3) dypgoco @t {4} Haomma

122. Correct order o | mag*uetic waves with respect to wavelengthsis...........

(1) Infrared > X > v > Ultraviolet . /(2) Infrared > Ultraviolet>X> ¥
(3) Infrared > X > Ultraviolet> ¥ ~ (4) Infrared > y> X > Ultraviolet

(1) soboes > 2, > i 5 6dbe 62n0 (2) mf::-aabuﬁ"m;ag}m
(3) m:&i_}}uﬂbuﬁ‘ﬂ}m (4) Sortees > e > I8 > wdde &iro

23. "Ampere-meter?! is the unit for ...

(1) intensity of magnetization 2]1 magnetic susceptibility
(3) pole strength : (4) magnetic moment
tresoatsB-Dos52 B8 AP 1o lrsn
(1) eoctiodm odiftier GG (2)  octhdnob Sunhid
(3) st S edidcn g
. E-1 - [25]) (P.T.0.)
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124. Find the true statement :
(1) 'g' value on the sun is less than 'g' value on the moon
) mass of the substance depends on ‘g’
3) At the center of the earth, weight of the substance =0
(4) At a height equal to the radius of earth, g =0

ot Tl Sigtan :
(1) soetemp g’ Dess SelEsdp 'g' Duss Yol bind
(2) Sigwp Eone 7' Desld b eprilsi

V3 g doin 5 Sy et = 0°
(4) r Srvisooisih BRPRRER S8y 354 =0
125, Deodorant s0aps cONLAIN ...

(2) freestearic acid

1) Na*salt
(3) 3,4, 5tribromo salicylanilide (4) K*salt

jll Na* eidesia
(3) 3,4,5 P8 Pehdipw

o

1268. Chromophore in ®_ N = NH, B s
(@>—n- N_@a&\aﬂ o gt
v N=N (2) —NH, .
@ {0)=N 4y —<0)—NH,
127. OH This structure indicates the ............ccceo. |
/{1} Paracetamol
(2) Aspirin
(3) Insulin
(4) Brufen
NH C-CH,
S Fobars
(2) MWxs
(3) A0S
(4) @rPs
E-1 [28]
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128. Nylon 6, 6'is used in ....o....coorennn. |
'l 1) making gramophone records (2) making bristles of brushes

(3) making raincoats .. (4 makinginsulators
P LA =Lt R— : _
(1) 535 trges and (2) pBe swets bard
(3) w5y bard (4) DS wegimes baird
129. The number of carbons present in the mixture of hydrocarbons present in
petrolis ..o
(1) 104015 : (2) more than 15
(3y 5to 9 " (4 1lte3 (’O
biffesd’ 4ol IpES © Doiioo 3 v ¥OA dowsel ..
S 103008 15 (2) ga{:;mb:
(3) 5ol 9
130. The qua'nt:um number thaK@& the orientation of electrons in orbitals is
Jl'_l Magnetic tum number (2) Spin quantum number
(3) Principal quantum number (4) Azimuthal quantum number
e el e o (2) IS Tpwoen;
(3) Bers mowo bogy (4)  edBubd Tewo oy
131. The weight of oxalic acid required to prepare a 100 ml, 0.1 M oxalic acid
solution is ........... :
(1) 252 gms : qf(ﬂ} 1.26 gms
(3) 0.4gms : (4) 1.06 gms
100 5.0, 0.1 M exmyDvisios Sttt Satkaoests Tioels emmDess grbos ..
(1) 252 . V@ 1260
(3) 0.4 (4) 1.06

E-1 [27] , (P.T.0.)
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132. Which of the following is true for amino acids?
(1) They are ionic substances - J-EEI They are covalent substances

. (3) Melting point is very less (4) Do not dissolve in water
(1) 39 eciPR¥Soge V(2 30 soarey soge
(3) a3 ERgRss o e Bl (4) 30536 xnd
188, Bromine...........siseioos
(1) does not dissolve in water )
(2) does not have electron affinity O(’(\
Jﬂ} is an alkali earth metal . CJ

(4) participatesin substitute reantiﬂn%l \ 3

W% S
(1) Bedd® stareso (@ (2)  Dogs v e oo
3 ﬁ%ﬁﬁm' @) B0 06" Bopm Heowsed

134. In an ideal transformer, the number of turnings in primary and secondar
_coils are 100 and 300. If the current in the primary coil is 2 amperes, then th

current in secondary coil is ...

(1) 066 Amp (2) 6Amp
(3) 1.5 Amp (4) 1/6 Amp .

uauﬁapw;;-@aﬁ.rn:&@mﬁb O owe Sopy 100, 300. (Sl R
V(1) 0660 2) 6eo

(3) 1.5we (4) 1/6ess

E-1 (28]
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|35. In an experiment of finding the diameter of a lead shot, a screw gauge with a
least count of 0.001 em is used. The pitch scale and head scale readings are
found to be 1.8 em and 20 respectively. Then the radius of lead shot is .........
(Error free screw gauge is used).

0.001 e.5s. ¥l Tt ¥OS 5om, et aairfiod S5 oot Tige Bl Barfkus’
155 5 8acK, Bolyos Bdcfes sty 1.8 Bo.bu., 20 ™ Kfomrtn, eoxd My ot

Tpgtos (B i oo AN ABAINoTAD etiefRion )
1) 0.91mm (2) 1.82mm
}33 0.91 em  (4) 1.82em
136. Generally, the orbital velocity of an artificial satelliteis ..................
(1) >11km/sec Jz} nearly zero
(3) 8 km/sec to 11 km/sec - of(4) <8 km/sec
(1) > 11 3.5%./%. @ oovsm U

(3) 8355 fn. h0a 1185 /5, . ofd) <8 :@5& :
00

137. In ordinary light, 'optical noise' is beca €.....
{1} monochromacity lack of coherence

(3) coherence (4) high intensity
j (1) 2y sbain sz}' ol
. (3) Sowgs (4)  ebEbn
138. Mass defect of helium nucleusis..............
/(1) 0.0304 amu (2) 0.137 amu
(3) 4.0330 amu (4) 4.0026 amu
1139, In a television receiver, channel selector means a/an ......ccoceen
} demodulator (2) receiving antenna
3) resonating circuit (4) amplifier
(1) dupusdeb C(2) oy woly
V(3) potedie : 4) masee

E-1 4 [29] (P.T.0.)
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140. The elements with electronic configuration 'ns! to ns? np® are .
(1) transition elements 2) inner transition elemanta
(3) inert gases (4) representative elements

'ns! 2vod ns? np® o’ .:ulg_rs :::-Emmmmmvm

(1) SESG Saremw ' (2)  pocht SOLES Suroes
(3) &b mdioges . 1{4] DG SoreTe
141. When phosphorous pentoxide is dissolved in water, it produces..............
(1) phosphine {(2) phosphorous trichloride
V(B} phosphoric acid . (4) phosphorous acid _
(1) DS . (2) e D8
V3 Fpmize (4) el witvo (’0

142, 'Tollens' test'is the characteristic property of ...

Jg; oster fa;;a ..
oS, by 80 s . (\6\6
(1) S ((9« (2:: m

V(3 egrpe
143. The substance added to glass to impart a purple colour .............
1) Cu0 2 MO,
144, The ............... aqueous solution do not contains ions.
ﬁl} Sucrose solution - (2) CuSO, solution
(3) NaCl solution (4) NH,OH solution
ecirion dolll) Bo [DrScIao.
1) 3998E o e (2) CuSO, mo e
(3) NaCl ee obese (4) NH,OH wo mben
145. 1 [;rauss = O -1 - r
(1) 104 (2) 104
(3) 0.39 x 104 (4) 039x10¢

E-1 [30]
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146 BP" — NG+ vuieisiinnaans .
(1) beta particle (2) gamma ray
(3) electron '.1(4]' positron
P — NS+ i
(1) burSeo (2) mae i0mo
(3) dogs @ s

147 The time period and length of a 'seconds pendulum’ respectively are .......
Dve Slofit i, Semings Tot, PP DU ..o

(1) 2sec,lem /(2) 2sec, 100 em
(3) 2cm, 100 sec (4) 2m, 100 sec
148 | Lumen=......... ‘
1) ergﬁs&m’sterndmn (2)  erglsecisteradian/cand
(3) ergfsec ) (4) ergfsecicandella O

149 ler@en=..
4 .:.;s;:ﬂsmms ag@émﬁ
(8) 26/5 - 4&\&

150 prvalue of soft ir0n I8 .vvve.e (@‘(\

ol grciion oot ur

(1) »>=1 2) =1°
(3) <1 4y »1
In the Periodic Table.,. .............

(1) right side elements are weak oxidizing reagents
(2) right side elements are strong reducing reagents
3) left side elements are strong reducing reagents
(4) left side elements are strong oxidizing reagents
s St .
(1) 54359 e Sarogres ol el o

- (2) LADHS he SaroTo nonod Jobitico

v/ﬂ!} S T Ne Suremes el bl
(4) Do Pap Mo Sorores el edgnees |

B-1 [31] (P.T.O.)
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